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Ecological Succession

Succession

· Succession is a series of ________________________________ in community structure over time.

· Activities of organisms ______________________________________ and make the environment _____________________________________.
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Examples of activities:

· ________________
· Available seed sources

· _________________________
· Invasions of organisms

· There are 2 kinds of ecological succession
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Primary succession

· Secondary succession

· The difference between the two is the starting point.

· Primary succession begins with a ________
___________________________ and bare mineral surfaces (eg. lava field) or water.

· There is no gross productivity

· Secondary succession occurs when an existing community is ______________________________ (for example by ____________________, or human activity) but much of the soil and some of the organisms remain.

· Gross productivity is low due to ______________________ and _____________________________.

· Few organisms = ___________________ = low energy lost = _______________________________.

· The system is growing and ____________________ is accumulating. 

· Because the soil and nutrients remain, the process can ___________
_______________________________ than primary succession.

· Plants and organisms that survive the disturbance __________________
__________________________________________.
· ______________________________________ can serve as sources of seeds and animals.

· The new climax community is likely to resemble the destroyed community.

· There are 2 places where of ecological succession takes place:
· _________________________
· ___________________
Terrestrial primary succession

A pioneer community is a collection of organisms able to __________________________ (e.g., ______________).

· Lichens help __________________________ and accumulate debris, helping to form a thin soil layer.

· The soil layer begins to support small forms of life.

· Steps to terrestrial primary succession
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1.Lichen community replaced  by ______________________.
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2.Annuals  replaced by _______________________.

3.Perennial community replaced by ________________.

4.Shrubs replaced by shade-intolerant trees.

5.Shade-intolerant trees replaced by shade-tolerant trees.



6.Stable, complex, climax 

community eventually reached.

· An example of terrestrial secondary succession in the Pacific Northwest is ____________________.
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· Each step in the process is known as a ________________, and the sequence of stages is called a sere.

Climax Community

· A climax community is a relatively ___________________________________ that is the result of succession. The kind of climax community that develops is primarily ___________________________.

· Eg.  _______________________________________________
· Climax communities show certain characteristics when compared with successional communities.

· Climax communities _______________________________ for an extended period.

· They contain _________________________________________________.

· They maintain ________________________________________.

· Climax communities recycle nutrients while maintaining a relatively constant biomass.

· The general trend in succession is toward ____________________ and more efficient use of _________________and ____________________.
· Increased consumer community means _______________________________ which is balanced by respiration (loss of energy) so _________________________________________________.

· The production:respiration (P:R) __________________.

· If disturbed by __________-_-_____ or __________________, ecological communities are not allowed to reach climax communities.

· The community remains at an equilibrium at a __________________________________.
· Eg.  Logging every 75 years
· The more _________________ the habitat, the more __________________ and ______________ diversity there is

· More diversity = more ___________________________________________

· More resiliency = ______________________________________________
Aquatic Primary Succession

· Aquatic primary succession

· Except for oceans, most aquatic systems are considered _____________________________.

· All aquatic systems receive _______________________________ and organic matter from _______________________________. 

· This results in the _________________________of shallow bodies of water. 

· _____________________________ below water accumulate more material.

· _________________________________________________________________.
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Changes During Succession
· Size of organisms ______________—more trees
· Energy flow is ______________________—more complex food webs
· Soil depth, humus, water-holding capacity, mineral content and nutrient cycling all______________
· Biodiversity ______________ because more niches (lifestyle opportunities) appear, and then __________________ as the climax community is reached
Equilibria

· A steady-state equilibrium is when the ____________________________________ will continue into the future. It refers to a system that is _________________ and there is a constant __________________ and _____________________________.

· It should be understood as ___________________________ of most open systems in nature.

· Example: _________________

· A static equilibrium is when the ___________________________________________.

· It is a condition to which natural systems can be compared.

· There are _________________________________static equilibrium scenarios in ecosystems.

· The relative stability of an equilibrium is the ____________________________________________
________________________________________ following disturbance rather than adopting a new one. 

· Example:  ________________________________.
Seral Stages








